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ОТГАДАЙТЕ ЗАГАДКУ 

  

    Я глазищами моргаю 

Неустанно день и ночь. 

И машинам помогаю,  

И тебе хочу помочь. 
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40          42        36            5*8= 

49          42        27            7*6= 

34          35        36            9*4= 

36          30        38            3*9= 

28          26        27            6*6= 

50          49        48            7*7= 

6            7          5              45:9= 

9            8          7              63:7=    
6            7          5              56:8=  
5            4          6              25:5= 

1            7          0              0:7= 

2            3          4              21:7= 
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